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b)  What did you notice about the perimeters found in question #1?  Do you think the same pattern would hold for their areas?  How could you find out?
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2. Sarah is lighting the theatre stage arch for the new play.
The arch is a semicircle on top of a rectangle.
How long is the string of lights? Justify your answer.
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3. This design is 4 one-quarter circles
on the sides of a square.
) Whatis the perimeter of the design? H.4cm
The broken lines are not part of the perimeter.
b) Is your result reasonable? Explain.
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a) i) 24cm
240m
220m
iv) 220m
b) The perimeters in part a are equal in pairs:
iand i, ii and iv.
Al 4 composite figures start from a 6-cm by
a-cm rectangle, but:
Part i has an extra equilateral triangle on one
of the 4-cm sides.
Part i has an equilateral triangle on one of the
4-cm sides removed
Part i has an isosceles triangle on one of the
6-cm sides removed
Part iv: has an extra isosceles triangle on one
of the 6-cm sides.
So, the areas are different.
About 262 m
a) P=11720m
b) Yes, the resuitis reasonable. The perimeter of
the composite figure shouid be at least double.
the perimeter of the interior square.
) About60.1cm
b) About86.8 cm
a) i) About526m
40 m of edging are needed for the
rectangular patio, about 12.6 m of edging
are needed around the circular fish pond.
i) About $252
b) i) Abouts34m®
ii) About $3753
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5. (Assessment Focus’ A circular fish pond is set in a rectangular patio.

a) Plastic edging is placed around the pond and the patio.
i) What length of edging is used?

ii) The edging costs $4.79/m.
What is the total cost of the edging?
b) The patio is paved with sandstone tiles.
i) What s the area that is paved?
ii) The sandstone costs $45.00/m2.

What is the total cost of the sandstone?

 What assumptions did you make in parts a and b?
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1. a) Determine the perimeter of each composite figure.
i) 6.0 cm ii) 6.0 cm
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iii)

6.0cm

P

6.0cm

a0cm




